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BAKGET R S KA Ak WMENEBETHSXEE 1-13-2 #if045-929-0033
PUEHERE ¢ MoK EREM ey — FEAMITEHEES-5 WAE042-792-4474
KE BMOA WM E EE JRot R
e s ) 9 ... | 4A18H | 54158 | 6A5H 7TH3H 8HATH 9H4B | 10A2H |11H118 | 12A4H | 1H8HA 2H5H 3A4A8 B | B T
2 B FIRM AKHEIHE | AL 13:17 9:30 9:15 9:56 9:20 9:25 9:17 9:40 9:30 9:30 9:20 9:35 BORME | BB | I
L | — A 0 100LLF 1&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 | KB ' F FH AU & [ oomitn | g (k) | g (avh) | R () | AR (1) | AR (RRb) | Rt (Rath) | AL (RRPE) | R (B HE) | SHR HH (M) | it (Bth) | AR4RH k) [ ARAR Y (RRbE) | AR H (Rab) | Mt (BR1E) | b (Rate)
3 | AR o (kA 0.0003 0.003LLF | me/l N - 0.0003 - = : - 0.00031iti| 0.0003 5| 0.0003 A i
4 KRR TGN 0.00005 0.00052L T | mg/l - 0.00005H = 0.00005 41| 0.000057i | 000005418
5 [tV ROFEDOEY 0.001 0.01LLF mg/1 0.001 =1t - 0.001#{iii | 0.001 575 | 0.001 A
6 |88 L OF DA 0.001 0.01LLF mg/1 - 0.001f=1i% - 0.0017R%5 | 0.0017% | 0.001K#
7 [EFEROEOLEY 0.001 0.01LLF mg/] - E 0.001 A7 = - - 0.001427#% | 0.001K7i | 0.001 A7
8 |75 mrvsMbAY 0.005 0.05LL mg/1 - — 0.0055Rit — - 0.0055R9%5 | 0.0052K7 | 0.005K{
9 |HfEEAIEE R 0.004 0.04LLF mg/1 B 0.004 1 - = ~ 0.0045K78 | 0.004 47 | 0.004A3
10 [¥7 ALy B ONGEARYTY 0.001 0.01LL F mg/1 | 0.001 K} - 0.001 K7 - 0.001 il 0.001 1 - 0.001%% | 0.0014 | 0.001 A7
11 | E R R OMEREER 0.02 1084 F mg/] - 0.43 — - = = 0.43 0.43 0.43
12 |79 R OF DAL 4 0.05 0.8LLF mg/1 B - E 0.05A 7 - = = - E 0.055K1 | 0.057K¥M | 0.055K
13 [A7FE K OED(LE 0.02 LOBLF mg/1 - - - 0.02K:1% - - - - - 0.024%5 | 0.02:l | 0.02K7%
14 Uil i 7 0.0002 0.0028) ¥ mg/] - - 0.0002K# = = = - - 0.00022=1#%0.0002R3#%| 0.000 271
15 [1.4-"4%4 Y 0.005 0.05LL T mg/1 - 0.005Ki = = = = K 0.00541#% | 0.0057¥ | 000541
16 |v#-1,2-v'yuoxfly RO v A-1,2-v yeaxfly | 0.0002 0.04LL T mg/1 = 0.00025R 1 - = = = = 0.000247i | 0000245 | 0.0002 <155
17 | iy 0.0002 0.020LF mg/1 0.0002341 - - - E 0.0002:4% 0.00025R7#i[ 0.0002 %75
18 [7h7muxFiy 0.0002 0.0LLAF mg/] 0.00025 = = N - - 0.00024# | 0.000235# | 0.0002 4
19 |Myupzfiy 0.0002 0.01LAF mg/1 0.0002:41 - - - = = - 0.0002:K7% 0000235 00002 A5
20 [NV 0.0002 0.01L4F mg/1 - 0.0002517 - - - - - - - 0.000247[ 0.00022Ki [ 0000241
21 |G 0.06 0.6LLF mg/1 | 0.06AK7%H 0.06A 75 - = 0.06A 0.10 = — 0.10 0.06:4 | 0.07
22 |/ 0.002 0.02LLF mg/1 | 0.002K7 0.002:K7% : = 0.0024:7i% - 0.002 K7 = — 0.002K:3# | 0.0024i | 0.00241%
23 | /gL 0.001 0.06LLF mg/1 | 0.001K7 0.001 - - 0.001 7 = 0.001 K7 — 0.001 |0.001=7WH | 0.001
24 |V yan R 0.003 0.03LAF mg/1 | 0.0037 0.003 241 . & 0.003 i - 0.003ATii = 0.00315 | 0.003A1i | 0.003 AT
25 |7 n®yunisy 0.001 0.1LAF mg/1 | 0.001 ¥ - - 0.00 11 = 0.00 LA i = 0.00 LA - 0.001{#% | 0.001 ¥ [ 0.00 LA
26 | R 5= 0.001 0.01LLF mg/1 | 0.001 A 0.00 15K — = 0.001 445 = 0.0017ij = 0.001 575 | 0.00 154 | 0.00 1 A1
27 [HKabnmAgy 0.001 0.1LAF mg/1 | 0.001 A5 0.001 - - 0.00 1 ATl - 0.001 ATy B 0.001 |0.001%%| 0.001
28 | M) 7oy 0.003 0.03LL'F me/1 | 0.0035K% - 0.0033K7 - - 0.003K3i = 0.003A1 0.0035K7i | 0.0031# | 0.003AK W
29 [7 ey yopisy 0.001 0.03LLF mg/1 | 0.001 A5 ~ 0.00 1A . = 0.00 1 ATl = 0.001TH 0.001 it | 0.001 7T | 0.001 i
30 |7 eV A 0.001 0.09LLF meg/1 | 0.001 K1 = 0.0012K . - 0.001 A = 0.001K1 0.0012%%5 | 0.001&% | 0.001 K
31 [HAbT AT BN 0.008 0.08LLF mg/1 | 0.008K 7 = 0.0081i5 - = 0,008 = 0.008A T4 0.008Z4i | 0.00871i | 0.008 A5
32 g R O DAY 0.01 LOLLTF mg/1 - 0.015K:¥ = = - = . 0.01K7 | 0.01K3 | 0.015R7
33 [TM=nh B O F Db 0.02 0.2L4 F mg/1 = 0.02:K 7 = = = = 0.022K7 | 0.02K% | 0.02K:75
34 (BRI DL EY 0.03 0.3L4 F mg/] = 0.03R 7 = = = = 0.0371ii | 0.03K% | 0.03i
35 |§ e RE DS 0.01 LOLL T mg/| - 0.014 - - - = 0.01FJ | 0.01FK% | 0.01FKN
38 | TMyAR EOEY 0.1 200LL°F mg/I = 1.9 = - = 1.9 1.9 1.9
3 |y R OO A 0.005 0.06LL T mg/1 - - 0.0057K5if . . - = 0.0052% | 0.0057# | 0.0057K:7
38 |k A 0.2 200LLF mg/1 0.7 0.7 0.7 0.7 0.7 0.7 0.7 0.9 0.9 0.8 0.8 0.8 0.9 0.7 0.8
39 | Wb, e ) oy WA (R ) 10 300LL T mg/1 = 12 = - — = - 12 12 12
40 [ZEFEIRE 20 500LLF mg/] — 204V = = = 20K 207 204 T
41 |44 i TE A 0.02 0.2LLF mg/1 - 0.02541i - - E - 0.024% | 0.02% | 0.024K7H
42 | A A3y 0.000001 0.00001LLF | mg/l 0.000001 57 [ 0.000001 57 | 0.000001 5% | 0.000001 A — 0.00000155 | 0.0000015=1# | 0.000001 38
43 | 2= AF AT R WAV 0.000001 0.00001LL T mg/] 0.000001K 7| 0.0000015{# | 0.000001 A {# | 0.000001 A4 = 0.0000014% | 0.0000015£47 | 0.000001 A4
44 | FEA A S iintEERA 0.002 0.02L4 T mg/1 — = 0.0024 . - 0.0024 | 0.00247ii | 0.002K w5
45 |7 )— VR 0.0005 0.0050LF mg/] - - 0.0005 47 - 0.00051|0.000554#| 0.0005 4%
46 |G M (2F xR F(TOC)D &) 0.2 3LLF mg/l | 0.2K9% 0.2 0.2+ | 0.245 | 0.25K% | 0.25% | 0.2K% | 0.23K7% 0.2 0.2 | 0.2% | 0.2 0.2 0.2K7 0.2
47 [pH{i 5.80,_|-8.6LL 7.1 7.3 7.2 7.2 7.2 7.1 7.2 7.2 L2 7.3 7.3 7.3 i3 7.1 7.2
48 |BR HgTlanz - | BEARL | BERL | Bl | Bl | BEaL | BEAL | Bkl | EEALL | BEARL | BERL | BERL | AL
49 [R%& BETROIE | - Bl | BaeU | BEel | Bkl | B2FAL | EEARL | B2ELRL | BERL | BEALL | EFELL | AL | BERL
50 |ff EE 0.5 5L | 05K | 055K | 055N | 0.5 | O5RTE | 055K | 0.5 | 05K | 05K | 05K | 0.5 | 0505 | .5 | 0.5 | 05K
51 |t 0.1 2LLT | OISR | 0.1 | 0.1RN | 0.1 | O.1RWS | O.IGRWE | O.1GENG | O.IRNE | 0K | 01N | 01K | 0N | C.1RW | 0.URW | 0.1R
H ey ok ey Py e HE HE by e Ha WA BE - -
IR SR mg/| 0.4 0.2 0.3 0.2 0.1 0.2 0.3 0.6 0.4 0.5 0.5 0.5 0.6 0.1 0.4
SR &) 17.5 16.0 18.5 23.2 30.5 24.5 20.5 13.0 10.7 8.0 6.0 10.0 30.5 6.0 16.5
K i 11.8 14.5 16.0 16.8 20.0 19.8 19.5 14.2 11.2 8.2 8.0 9.5 20.0 8.0 14.1
NI i =) &) L) 5 B fEih Fi It 55 et 2D — - -
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